4

he purpose of-

jttee was sel UP for t
from below:)
_centralization

ot Rai Mehta Comim
jate option
for democralic de
e village panchayals attl

The Balwa
(Choose the most appropr
(A) Suggesting easures
on the working of th
ter efficiency in the imp

hat time

(B) Reporting

gesting measures fior bet lementation of the community developmey,

(C) Sug

prﬂjn!i;[ﬂ
(D) Investing the adequate financial resourees of the village panchayat

(E}  Question nol attempted
mqmﬁmuﬁ%ﬁﬂﬁqﬁ@mﬂﬁﬁmmﬂmﬁﬂﬁmﬁﬂw(ﬁmﬁﬁdﬁﬁﬂwﬁmﬁmiﬁj
T i P & g 4 e

(B) mmmwﬁwﬁ?ﬁﬁﬁqﬁﬁ#fm

(C) “Eﬂﬁiwﬂmﬁmﬁaﬁrmmﬂaﬂm#gﬂﬁﬁ#m

(D) mﬂﬂmﬂﬁ%wﬁfﬁﬁuﬁmﬂﬁmﬁéﬂmﬁ#m

(E) wafm ws

Which of the following parts is related to the Directive Princi o § . i
¥ e Frer fmﬁmﬁniﬁmﬁ-mm:r qﬂ?ﬁur;;fr:s;;:g;;:hcym e
Sl (B) VI

(€} IV-A J’B‘I" v

(E)  Question not attempled / FAI T4
w3

e words * Socialist and EI:’I.lI.i].rI Vere (& [ ﬂf & }‘I
T il S W added to |h
(A) 4 e AMmE Prﬂﬂmble I.h [“dlﬂ.{l ( onstitution h 2

; (B) 44 5
(C) 46" smendment mendment

j (D sl
(E}  Question not attempted ) 41" amendment

miﬁﬁm#mﬁ ) -
KT a3t e “Socialist” (FATETED) 3 “Secular” (frtran fe i g s ™o

(€ a6 atmrg (B) 443t dHi
() s g (D) 41 =t g
Chnose the most appr

opriate
teported form of the given
o0 snow. ILisn'y gafe Fies

He saud, “Dion't walk
WY He sajg s
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the options:

6 ldentify the grammatically maost appropriate sentence from

(A) Inaz week's ime 1 will have cnmp'ls:ted my work.
In a week's time 1 will be completed my work.
T(C) Inaweek'stme 1 wﬂle;sI complete my work.
(D) Ina week's time | willsgpmplete my work.
(E) Question 0ot attemple
7 Choose the most appmpﬁnlﬁlmivc form of the word *Mistake' 10

The meter reader _ gl fora burglar by the landlady-
h (B) was mistaken

complete the sent

(A) was mistook
j Thas mistaken ™ (D) mistook
() Question not atempted

8 'ﬂé’miﬁmwkﬂ

19170042 19170042 19170042

) ¥ o ® T
© ¥ o oy~ I
(E) HAE |
g S T wAE mﬁ;qf?ﬁﬂiﬁa&m%-
(A) @ — (B) S
e I ) =
(B) 3w 9 o
0 e i e = it
(A) FEH
= il B
- ~ ) T
(E) Fai WA -
11 Indira Gandhi canal is <iruatd@in which of the following regions of Rajasthan?
(A) Westem Desert plain Ee lon o AR T
() gouth Enstem Region (D) Semi dry Region
(E) Question nol attemp o
Sy Ty T i & o & 1 s &7 <p
Mwﬁﬁm@mﬂ; w? oy g
(C)
. o) =
®) AR -5 L :
12 The moist deciduous forests geq not found in which of the follows h
(A Noﬂhcn.nern Srates (B) g m“:@mﬂf India? 3
(C) Peninsular plateat N ) Fﬂu'ﬂrl: opes of the western ghats
(E) Question not attemptedd ills of Himalayas o™
W%Wim%ﬂmmmwﬂﬁ <
(Ay FaugEl =]
(€)W T LA ;‘;r e W 3 o we ]
() i ¥ o , Tosrera i vty ™~
9| # . . ;
i

| PT.0
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of ﬂujus:hun'?

the oldes! museum

oo Te k (it
13 x\-mchurmunﬂthwmgmkﬂ”““ . (B) Albert Hall
(A) Amrapali (D) Ahar
(C) The Crystal Gallery
: d
(E) Question not attemple : - e
-y 3 B H
ﬁmﬁwﬁawﬁﬂmwﬁammmm i -
/;,.\j’ R &
() Forem et (D) TS
(E) SiE 9% I o
14 There is certain relationship between the two terms to the left of =2 and the same relationship exists between
the iwo terms to its right. Find which option would replace the question mark?
;:?am‘faﬁr&nﬁ%mgﬁsm%aﬁtmmmmaﬁmﬁ:ﬂh#ﬁﬁ%mﬂiHaramt%rﬁaqﬁ
a7 fereheg 51 I 7RG
324 : 289 12 256 : 7 '
{A) 200 /‘,{225
c) 3
1.] ﬁl ; (D) 135
(E)  Question not attempted / ﬂiﬂﬁﬁuﬂl
15 I-'_n-u:l the ﬁUlﬂh’:I’frmﬂnglgs in the given figure:
AT 15
C
i ®) 16
: wiWMLH i {D] 13
of ‘B, ‘Alls hﬂw“n?m} F'are Sil‘ling around a
Rl PR e SR and “E* is oppo, ound table. *C* is not in either f the nei
‘E' i g f F'“ﬁm ) sile to ‘D, . of the neighbouring seits
W’ BF %Wiﬁtm,ah ‘ ﬁﬁf'%:q-rﬁxh 5 .‘N—TG‘EDPPBSIIE of *F'7
7 D3 Sy iy e e F T 1 ey
© b V'F % amy > Hiz gt Aar gl A
(E)  Question ngy (B) ¢
17 : ; .
In a row of childrg, G::’“‘I’dn‘azzﬂhnﬂ Dy A

by three places touggg - > V4 from g
eft ang p

‘ﬁﬂn% Omeg tenth frg faveen jg twelfih
i e m th from the it

“Wwﬂa;?“t quum:m end, Hoy many ::Ight end . If Praveen shﬂl
€ 26 mq’iqwm?}t S tldren are there in the %
(E) UL L T R i o, fter 41

24 ey =
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XER

18

Choose the most appropriate statement from the following:

AX) A notice is distributed to the selected people in an organization.

(B) A D.Oletter is written by an authority to the employees of that organization.
(€)  *Yours respectfully’ is the appropriate subscription for an informal letter.,
(D)  The format of the date in an official letter is 01/04/24,
(E)  Question not attempted
19 Choose the mast appropriate word to complete the given sentence:
The boy crawled the fence to enter the garden.
A&7 out : (B) under
(€)  near (D) above
(E)  Question not attempied
20 Choose the most appropriate word to complete the given sentence:
His ideas on the link between art and culture in Asia do not conform the generally accepted
theories,
{A) into (B) with
,LE'F/ 1o (D) within
(E)  Question not attempted
21 Choose the maost nppmpriﬂfﬂ Eng[ish word for the giw.'n wiord:
=2
(A) Abalement _ABr~ Abolishment
(C)  Apartment (D)  Abetment
(E) Question not atiempted
22 Choose the word closest in meaning to the underlined word from the given options:
During the course of the interview, she refused Lo answer the question that infringed on her personal life.
(A) ingested (8) Tntuslcd
,{C"j‘f nvaded (D) ingrained
(E) Question not attempted A :
23 Choose the most appropriate word similar in meaning to NONCHALANT
ins crion
(A) insubstantial BT ,"“',Jrf':
ey (D) indifferent
(C) intimidating
(E)  Question not attempted R :
: o= the product formed is called reaction.
24 The reaction which is camiysed by (0B (B) biochemical
(A) autocatalyssd () reversible
(C) displaccment 4
(E)  Question not aftemple o & i ™
ﬂmm AT ’, e
= fufarar o 309 @) davamh
(A) wrEEAi iy Feit
(cy e
(E) st e | TO
5
Y| #
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aldehydes 15:

25 : P E o
ofearge f e FC (FRFCH)
i

}Aj/'—'(lrfﬂ
0

I :
cy —C—OH!

ent in
55 The functional group presen

a0
(E) Question not attemipted / E LRl Sl’;i.
26 The JUPAC name of the given compound is:
CH; —EH — CHEICLH.3
CH,4 <

o
(A) I-Methylbutane 'Z

J,Gr‘" 3-Methylbutane =
(E) Question not anqmplcd

CH; — CH— CH O fisd e AT 1 IUPAC
CHy v

(A) 1-Prargersges

(C) 3P T

(E) @

R Y o
5 R%'m!. mv'ﬂ.ueﬁ'? ddedTFax Act was passed in which year? -
:rﬂu »E: m':_ﬁh ™ ﬁﬂ?&ziﬂmﬁ‘aaﬁmyﬂ, O
4 £ i -
& b 4 BT 2007 '-
; .) : dl (D) 2003 "
(E)  Question not attefipted / S v F (%)
28 Where is Dhirubhai Ambani Solar P e
{A) Dhursar rk located?
(C) Kavai N (B}  Suratgarh "
(E) Question not “‘nﬁgpled (D) Kot N
cf‘muéa#m’mhma’a%q{ﬁuﬂﬂ "_{‘I
? C
o . ®) =
— ™
(B) smafass o D) =y : i
29 Which of the following-is the firg g i)
(Choose the most appropriate OPlion from bﬂh"’“d Thermal Power Plant in
(A)  Kota Thermal Pawer Plant )
(C) Kalisindh Therran Power Plag, (B)  Suratgar Power Rlant
(E)  Question not attempted (D)  Chhabra power Pt
Fresferfia & & i 1 O 71 T o
(1 5 & wrarst argen fores <7) ™ T Wi gy, O
=

(C)  Frefferg ara fada
(E) STpFIfee b

TI9) #

(B) F—tl? ——
0
(py —OH

(B) Pentane
(D) 2-Methylbutane

:ﬂq'_b"
(B) =
(D) 2-fumesmr

=

(B) St fore e 1ol
(D) ey frege i ?_‘;

6

Rﬁjnslhnn'f
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30

31

32

33

34

Which site of copper culture was discovered at the source of river Kantali at Neem Ka Thana?

(A) Bagor (B) Ganeshwar

(€) " Ahat (D) Gilund

(E) Question not attempted

<fisy <1 ST 3 ATt i 3 e AT HEHt 1 EH AT e @i

(A) @miR B T

(C) oTes (D) fres

(E) idf@wa

Which of the following kings of Kamboj has created four scriptures of total 326 Paragraphs?

(A) Yashovarman (B) Rajvarman

(C) Jayvarman (D) Bahuvarman

(E) Question not attempted

Farerfrfiara i & st oh fohe T A et 326 STl 6 ST T Sl T T

(A) TS By TS

(C) SEEA (D) wEand

(E) 3w 9

Which temple is called ‘Mini Khajuraho® of Rajasthan?

(A) Temple of Kiradu (B) Rani Bhatiyani Temple

(C) Shree Nakodaji Temple (D) Ramgarh Bhand Devra Temple

(E) Question not attempted

TrrEaT & T @sEr fper Tfet 1 et AT 87
o g R (B) Tl e it

(C) off TR S Hi-at (D) TTg ¥ A =T

(E) ST :

How many true breeding pea plant varieties were used by Gregor Mendel for his experiment on artificial/

cross pollination?

Whﬁimﬁgﬁﬂmww%mm%mﬁﬁm@wﬁﬁmﬁ
AT ®) 14

© 10 (D) 8

(E) Question not attempted / I W

Select the camel breed known {o have excellent swimming capacity in seawater.
(A) Jalori (B) Kharai

(C) Mewari (D) Malvi

(E) Question not attempted
ﬁﬁiﬁmmﬂgﬁqﬁlﬁﬂgﬁwﬁ&ﬁ#mm AR

(A) el @y @i
() et (D) W
() SFare w4

| p.T.O.
Y| # 7
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L]

26

e, Tl

27

dFmAR

©

(E)

28 Whe
(A)
(©)
(E)

(A)

(E)
29  Which
(Choos
(A) ¥
(C) Kk
(E) ¢
Fre=fate
ez
AT A
€) =
(E) Eg

TI9] 4

re weakness an jet? -
1 jcine an
onishe Ving w“‘}; prov h edicl ® Vitamin
3 would be SUPP Vitamin A
ﬂwmms ! (D] -
()T ~ P
Saay 4 e 121 FATat &l Ay
(C} yitant ted T v ﬂﬂ wJ i
5 Quesionnot R P ot £ 30 1
e '
Ja T R @ fEfEE G
S oTERA TRy FrfE T
Mﬁzﬁ‘“ﬂ M 2 A
& g
© FgerfE ; 6 September 20247
than as on p i :
(®) 3@%9% e Advocate General of Rajas o prasad Gupta &
46 Whoamong the PO (BRI <
(o) Jai Singh Sharmt @) Jitender G2 O
Meend O
() Bhupendra MEEC 4
() Questionro! “‘@Zt::ﬁﬁm (6 e 202470 1 &1 o
ﬁmﬁﬁﬁﬁﬁmﬁﬁ @y LEC S UIEHULEN u

© EEH i
€ IO ol

il twug‘létcmcntst > - B I
LA ¢ panchayati Raj system, is Zila Parishadof District council. Zi

Statement (1) The highest unit © : ¥ e
upervisi i i thé-plans and proj¢
is a iﬂ:emsmg authority regarding the execution of h C‘j

(D) etz THT ™

development and progress ™~ o
statement (IT): The ija Parishad (District council) is organized by the dlre_lit‘p:leclc me 1
readih MLA's, MP'S from Zila Parishad. o

v ; jons ghent”
In the light of the above statements, choose the most appropriate answer fglt‘ the options&
(A) Both Statement ?l) and Statement (II) are incorrect.

(B) Statement (I) i gorrect but Statement (IT) is incorrect. '.':\I‘

(C) Statement () is incorrect but Statement (IT) is correct. = El;)

(D) Both Statemenit{T) and Statement (IT) are correct. -

(E) Question not aﬁ%mpted > o
At 2 e fa e iﬁ v

J
T - (1) T T AT Y T g e i A fefgae FeEd, m%lwmmﬂ“

Tt < i S st e & o ST & e
Wqﬂ[}:ﬁmmmmﬁw m{’d’r‘
M Gy wm%mﬁaﬁq_ﬁfﬂ‘

Tt o
(A) () S 1yt v iR A Iagw s un‘“"i' Tis}

A
(©) 7 ()T g ) e (Ea st
® sfems O ThRpEhs (D) wmaﬂuﬁﬂﬂl}ﬁ

9| # v o

-
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i il

R

40

il Parishad

of the il
rom regianil

n below:

42

(Bl
i

( ['.T-ﬂ'

ange the namies ¢ { Cove
Arrang Ol Lovemors of Rojasthan in the chronologic:
Shri Raghukul Tilk onological order

b, Shiri Sukh Dev Prasad

i A ., d Dr. M. Chenna Reddy
qroreuiTd A COPATTET % ST R rennepenfivas o of srafie ot e )
ol e frer J

AR UIEE -

; Dr, Sampurnanand

b ) Igr-ﬁﬂ THTE
: he " d, o, um, g g
Choose the most appropeiute answer from the options given below! :
vy i v et A :

i e, e St 8 4 efertfiras e e ot

¢

I‘\_] b, ¢, d By ¢ bda
€y ¢ onbd 5 I,U—H/ nbcd .

(£) Question not iilll.:'ll'l'l\lh'd / '&F!ﬂircl |

Red |.1'|l_:-.ul cells of whichof the following blood groups contains both A and'Bantigens?
f it A1 e e e eTrer T Ay A war B AR st (S o T 87
(A) B - i AB :
€ O : D) A

(F)  Question not attempted / fﬂ'f!fih’rt ns

A person with blood antibody I3 con recieve blood from the blood group of:
(Ay BorO only (B) AorBorABor %) only
(Cy Oonly ) (D)  AorOonly
(B} Question not attempted '
o, st Foredk oo B iferefi &, Ft Ffire e 2 WA W 7 :

: (B) AT ATB m;’:LB'mo

(A) FEEBATO
/(m’ FaAaATO

€y ¥AO ;
(E) styaf v

Which one of the following is the State tree of Rojasthan? Ad
(B) Rohida

Y

(A) Khejri |
(C) Smal II. (D) Deodar (
(E) Question nol z:lthuptud :
ﬁtn{afmaﬁmmmﬁa:rmqw? :
Ay Ed ) @) fser
(C) @ i (D) W ol
(E) s wd ol e
Spirulina is & good smtrwl.'nf- :
(A) Vitamin C - (B) Carbohydrate
(C) Protein ; _‘ (D) Fat ,
(E) Question not auwl;n;awd I,, :
Wr;ﬁfmarﬂﬂmﬂ? h r
(A) Torenita C & 1 (B) IR .
}Qq/ cE (D) =HT R
(B) arafo 54
9

| PT.O.

19 #
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48

49

h
=]

51

A solid right circular cylinder has height 17 cm and its radius is 8 cm. The cylinder is cut in three ec
(by 2 cuts parallel to base). What is the percentage increase in total surface area?

U 31 T I Ao T Seirs 17 eft wd Proa 8 At 81 39 e ) off s v (gae Sman &
mman@F{q@m&ﬁtﬁauﬁmnﬁmwl-..

(A) 68% (B) 79%

(C) 64% (D) 50%

(E)  Question not attempted / Jﬂ?ff'?i a4

Where is the Instituteof Development Studies situated?

(A) Bhilwara

(B) Jaipur
(C) Mount Abu

(D) Udaipur
(E) Question not attempted

THTH STETAT TEAH sl It (b9 82

(8IS ~ABY S
S JIR= TG (D) IR

(E) dﬂ?fﬁ_d M

Where is the Centraldastitute of Arid Horticulture located?

(A) Jalore (B) Bikaner
(C) Sllrlli_dﬂLdl‘l"H.li'II' (D) Chittorgarh
{l' )  Question not attempted

A S AT SR FEl T ey 22

J a7 s
(A GI'I_T‘[T :
{C; ﬁ;ﬂ’ﬂt (D) Rrele=

W o f Fashion Technology situated in Rajasthan?
. of Fash oy § _

Where is T‘-Jll()t‘i al Institute L

© A (D) Jodhpur

(C) Kota

(E)  Question not attempted

By AT
St (D) SagL
(C) =hial

(E)  sygaf 94

Y i o Tir +)
- ~idence 15° on a plane mirror (ngshown in Hgure
-} nciaenc i i
A ray of light is incident at an angle ol 1

X W

g ZhHioy gL AT £  F W fRamn arar )
The value of X is: Jso % 3 o poy S e
m%ruaﬁﬁnvrammfﬁr 1A Hivl =

HI A7~
Normal
|

|
521

\ :
o~ 75
| h /[1’.?(’ 5 70
(M - e
(A) 65° v
e LhS e S
I“': :(;uu:»-.liun not attempted / #3 i

Tl"}l #
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s than the number

ive stage 8 163

1 the stafus of popu

»clining
e stage: {B} Declt

E_,,;p;mding

gelec!
in rgprm.iucu\
(A) Stable

(c) Stagesnot affecting each 0! i H@TWHT@[ el @ o
(E) Question not attempted W{;Wmﬂ“aﬁ
mmﬁwﬁw%ﬂwﬁ"m @) oI

a7 A % o
54 rl\f:m is c;nsidercd s the father of ‘Ecology It lndlii}) Panchanan Maheshwari
(A) Ramdeo Misra ) C.V. Raman
(C) Lalji Singh
(E) Question not attempted
Freferfiaa # 8 ¥ & e
_{pw” e e
(C) TS e D)
(E) HHHa ¥
Which among the following is produced by a fungus?
(A) Butyric acid (B) Acetic acid
(C) Lactic acid (D) Citric acid
(E) Question not attempted
Fore § @ 791 O FA% 2 IeAed Bl 87
JE‘;’ S ®) il s
S D
(E) e ug WRRA

Read the passage carefully and answer i
g questions that fo i 3
S llow by choosing the correct option:

While working in the establishmen
ts of Space Defense R
: e .
the best human beings and the most innovative minds w search and Atomic Energy, Dr. Kalam found th!
also found in all the scientists and technologists: fhey ere present here, in plenty. One common featur WS
failures : dthe =5  HICY Were at . ——— e S
:lu:eb ;umaﬂ within themselVes the seeds fohﬁ#_ﬁlgﬁdﬂifm uring their pursuits pecaust
entually to high level of success, Th €arning, which cguldpl'_' ' an
. ; ea ology
nts. Taking ac:: P:’“izle ere great dreamers and their drec:ut-z b;ﬂcrltczhfminated i
institutions, it would certai nt of the combined ; s finally cu E e
Regarding personal fn:t:domlyi{bc comparable (0 the best fr:-unq;llf":ch:::’lc'gmal strength of all these scieatl
: m, Kalam is saj in the develo
one’s own education and skills — idto %"a\*c adopted two ped world.
possesses, the 18 the mgg ;
t
1y be free ul: l’fﬂ:ous- tool; the more up-to-date knowled2® is
10 engage in ¢ [:‘nd_h;s, team, if he keeps abreast of oll lh;ﬂol;
Y ofaking o htinuing education, The second ways is ©© dg\-cl_n
8 your fate " rcsPﬂnSibiliiy 1o work for the things you bel'g\;c.l I
for m Others. Historia i : anci®
e, hi OSLWas freeqq £ n Edith Hamilton wrot® @ ° p
om, We ¢, )
i ccl:d"\’}’c “an combat the forees ¥ 18 that there i o gr:'l fom responsibility, then Athens ceased " %
1tons that prom pte indivig threaten 1o op at deal that most of us can do to increds® ”
T19] - 1dual freedom, » PTess us. We can alit

-%mﬁwﬁﬁémm%?
B) A HeEd
it W

Ln
uh

. adind
techniques to strengthen it. First: bY bulldi:'
o

g Tolead is in a v
"p:_::c:jr:) I':r ::-crsunnl responsibility, hyﬂ::;
o “W; + YOU would be surrenderin
i am,j 4 en the freedom they wished

48 never free 8gain, The (g

q\]

fUnify Ourselves with the

12 3
[ ]’.T-O
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]

He has a scientific temper blended with

Dr, Kalam 18 ncilﬁcr an orthodox nor 8 uons;lcrv.::tivcdre‘ligltiz;f;; e il s Iy o
spirituality. Drawing an analogy between m?m.:uc and spir y b B e s il

sestioning, spirituality is based on known principles; both of them lf:ad one to seek ¢ :
:lillcd with humanism and loved and renowned by the entire nation, w:th‘{Jm any barriers of ageand Comum?;i
windia must stand up to the world because 1 believe that unless India stands up 10 Lbe v_mrld. no omlt wi
respect us. Only strength respects strength.” So said Dr. Abdul Kalam, the nucleanf scTcm:st w}w.de»c oped
and structured India’s missile arsenal. He belongs to the world of nuclear weaponisation and has supported
the nuclearisation of India consistently.

According to Dr, Kalam, the element that was cumw the scientists and technologists was:
)

(A) They had spectacular achievements They were not afraid of failure
(C) They were great dreamers (D) They were best in the world
(E) Question not attempted

According to Dr. Kalam, personal freedom can be achieved only when

. You empower yourself with knowledge

b.  You free yourself from all responsibility

c. You develop a passion for personal responsibility.

d. You develop courage 1o be responsible for the work you believe in

Choose the most appropriate answer from the options given below:

(A) b, canddonly (B) b,dandaonly

,Lf)i/ i, ¢ und d only (D) a,bandconly

(B} Question not attempted
Dr, K/njium supported nuclearisaion of India as he strongly believed that:
/(,M" Unless India stands up to the world, no one will respect us
(B) Knowledge is the most precious tool
(C) There Is a great denl that most of us can do to increase our freedom
(D)  We can combat the forces that threaten to oppress us
(B)  Question not attempted
Dr. Kalam draws an analogy between science and spirituality according to which
i, Sclence Is based on questioning whereas spirituality is based on established principles
b, Both are arrived at by not questioning
¢ Both lead one to seek truth
d, Both are habits
Choose the most appropriate snswer from the options given below:
(A) nd ¢ only (B) candd only

a and ¢ only (D) aandbonly
(B)  Question not attempted

Mateh Listl with List-Il
List=1 List-11

n, Conservalive L Using new ideas

b. Arsenal I.  To feel stronger

¢ Innovative IlI, A collection of weapons

d Fortify IV. Opposed to sudden social change
Choogs the most approprlate answer from the options given below:

asIV, b=l c-ld=Il (B) a-ILb-1V,c-11Ld-1
(€) a=lbeIV,e-1,d-1 (D) a-MLb-TMec-Ld-TV

(B)  Question not attempted
1 p.T.0-
T #_ 13
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ol

63

64

TI9) #

3 ‘ane -t for irrigation?
benefitted by Gurgaon € anal Project for irmg

which of the following regions of Rajasthan 18 !
(B) Kola

(D) Bharatpur

(A) JmptE
(C) Jodhpur
: uestion not attem ted ; ! oita
ﬁ;mgaﬁq%ﬁmﬁﬁgﬂﬂﬂﬁ@ﬂﬁﬂﬁﬂWﬁﬁﬂaﬁﬁﬁ?ﬂﬂmﬁmﬁw
(A) A (B) e
(©) U (py” T
() 3Fmie ¥
What is ‘DIGGI construction?
(A) A technique of Hand Loom
(B) Operation for restoring surplus water for field crops and :tgricuitur;ﬂ activities in canal command area
(C) Construction of pipeline for irrigation
(D)  Anew agriculture method
(E) Question not attempted
Fenfr Frmiot e 27
(A) T 6 G A
AB TR 3 vt st e 26 e st <1t T X T AT
(©) framk fore argem 1 Fio
(D) e U 78 i
(E) aita 94

Which i5 the oldest Public Sec 1
8 ublic Sector '.II'IL]LE"I'.IL\'I“E of R'.Ii&l!ﬁll]&lu.: ‘(tll S
L \ i 1005€ Ihl.,‘ maost r.‘ppraprfal(' Upli(‘“ rro a

R'd".l‘».flhﬂﬂ Stite Gangg far Supa
ganagd gar ills Limi 1
I _ ir Sugar Mills l_ll'llllL'L

Rajasthan Drugs and Pharmaceuticals Ltd
dis L,

(C) Rajasthan Electronics and Instruments [
(D) Hinduslan Salts Lid, S
(E)

Question not attempled
TR FTHER [HT W o

w o ; i m E ‘ -
4%qﬂaﬂaﬁ3mi‘a?nw¥ﬁ-} b

¥ RS T IR firew fafie
(C) =T Sl ey i

- A ; (B) TS gt Wit fafire
i'l'h] St T fefiie (D) %awm@%ﬁzg :
he first satg)li N |
1e first satellite launched by India iny v
(A)  Aryabhan e
AL -
(C) II{S.—I
: ) (B)  Chandra
) Quektion noy atte .
oy ; attempted & TRALY
RRT SR S oy ey
(X7 srrivg s
(C) = =m
TH (RS RERIE
Rl (IRS)- 1A 2 .
) Sl uy -
(D) %
¥THE (INSAT)- | o
14

[ p.T.0:
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65

66

67

68

69

stance
el o P 5 s e talie cm. This di
45t distance of distinct vision (or the near point) for normal eye is taken as 25

The le t 25 ¢m from the €y&, the

increases to 30 ¢m for an elderly person. If the person tries to read a book at abou
image appears blurred. This defect of the vision of eye is called:

) Hypermetropia or farsightedness (B) Myopia or nearsightedness
(C) Astigmatism (D) Presbyopia

(E) Question not attempted

s @I 3 o (o7 e 231 it =pan 5 (an feke fig) 25 et oft STt 21 Uk g =Aieh % foe 78 gl 9@ 50
Hﬁﬁﬂﬁﬁﬁ%lﬂﬁmﬁbﬁﬁﬁ?ﬂﬁwwlﬂmmtHrufafﬁi“ﬂajJ‘cl?‘ﬁﬂ?ﬁﬂ%ﬁT%l';ﬁa':?
¢ 32 2T FHEa 8:

(A) ETETCHSITAT AT ZTEfE (B) Wit a7 e gfe e
(C) ufemifesn a1 sAfegar B ga T 41 sier
(E) i 94

Who introduced the final draft of the Constitution?

(A) N Gopalpswamy Ayyangar (B) Dr. BR. Ambedkar

(C) Alladi Krishnaswamy Ayyar (D) Dr. K.M. Munshi

(E) Question not attempted

Hifaam i sifaw w9wE (@) fomms g 4w o

(A) TH MUTeRETH ST By &1, . 3, e
(C) et Fom=THT SR (D) =T %. . Hyft

(BE) 3rgmfEawy

Which Fundamental Right was deleted from the list by the 44™ Amendment Act. 19782
(A) Right to property (B) Right to freedom

(C) Cultural and educational rights (D) Right against exploitation
(E) Question not attempted

44 T e HaEEE, 1978 % il ﬁwﬁlfaﬁﬂuanawﬁﬁ?mﬁ:waﬂqzﬁu

2T fear a2
AT Ef T AR (B)  TaesT 7 Stfirsn
(C) witpfaar iR Srefor safeerr (D) 39T & s svfrem
(E)  3qwiica war

gt =2 1 wfu - fa= fs
(A) G+3FfF A+

g +3fm
C) gwm+3 (D) H+3fw
(E)  orqfta 54

‘et f gy 8-

(A) e ABT @x

(C) =Fduma (D) 3=rfive
(E) i 94

(L W'ﬁm?{-
) AcqE (B) 3z

(C) = (D) =w:hfy
(E)  spqmfa ua

T19 | # 15

| P-T.O.
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N
. 3 fafir 3wart -
" E‘ﬂﬂh ﬁﬂm {B] q ﬂ'
() - r..
) e .
[\mn can do a picce of work in 45 days and 40 days respegtipely. They began to work together but A
T2 Al »
lua\-'c;.;jﬂcr ‘m’ days and B finished the rest of the work in (m *33) days.
The y#lue of m 18: _
(A) 3 days (B2
(C) 17 days @) 9dagy
(E) c@ucs‘n’on not attempted ) - -
A Sives Pt s =t e 45 At it 40 AT H Qo A B 1 IOy 1 & AT A, ‘m’ BT
a1e il oTg 2 & 3R B T & (m +14) RAt T o @ 8, dlm FHH
a) D fem B) 5
© 7% @ 9
(E) effgara v r~ 7t
73 One wéming just after sunrise, Ankit was standing facing a pole. The shadow of the pole vwas formed on the
lefi side of Ankit. Which direction was Ankit facing? ™N
(A) CWest (B) No i
(©) Fout (D) Eastes
(E) E?ucstinn not attempted [~
Wwwhmﬂﬁﬂﬁﬁﬁnmmwwm 3ifSa & arff e
; = AR 3 : EIEl e
o g i siv o = mey a0 (o) b i
(A) Chfim v~
s (D) 9d Y 79
4 10152 February, 2018 was Thyrs
' rsday, what w <
(A) g'i-day Y, what was the day on Igll]@Pril 2019 2
(C) CSunday (B)  Satudddy
i:&) l"f'}ul.-stjon not attempted (D) ThllrEI:ry
1 \
E'*Raf‘rzmsﬁgaum,mlgm’ o
(A) -0l9_a$|c‘:ﬁh_mﬁq-%
®) wfar
(E) (\"“’f‘ﬁﬂﬂﬁ (D) ‘{B.—a-rN
75 Whicihlace of Sikar is 1.
; T18 famous for ey « b
(A) Q1pmli Eola mdl!su-y? () 80
©) dela o
B) N
E .
(E) rﬁ‘“ﬂ&hon not a“emptl:d [D) cCI‘M
(A) vl o oz 8, )] |
1e1” wiay ~ 1
®  Sryetea vy ®) o £
9| # (D) qz

(]
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Choaose the most appropriate English translation of the given sentence
.

76
erferat FerTeT 3T Rl
(A) Faultscan't be easily found (B) It has been easy to find faults
(C) 1t's very easy to find faults /('J.n/ It's easy to find faults

(E) Question not attempted

77 A sum of money amoumts to T 6,690 afier 3 years and to ¥ 10,035 after 6 years on compound interest.

Find the sum.

T ST SRR AT & ot 79T F A2 X 6,690 U 6 97 35 e 10,035 &1 ATt &, T qeT <77 11721 37 4

,V:r/u,mn (B) T4,900

(C) T5.000 (D) T4400
(E)  Question not attempted / 3wt w4

78  The price of a gold-bisculit is directly proportional to the square of its weight. A person broke down the

gold-biscuit in the ratio 0f 3: 2 : 1 in terms ofits weight and faced a loss of 7 4,840, Find the initial price of
gold-biscuit,

Hﬁ#ﬁ%ﬁz?ﬁﬁqﬁm%wiari#mmﬂ S A F e #32 O ST | Arzar
& S aTT & i 38 2 4,840 Fr B 2 A % fareage o s e s 2

(A) T7.200 (B) 7920

(C) T 8,000 (D) 7,000

(E)  Question not attempted / AT 94

7 The percentage profit earned by selling an article for 2 1.920 is equal to the percentage loss by selling the

same article for T 1,2800At what price should the article be sold to make a profit of 30%,9

Fereft ey 21 2 1,920 3 St tfifer e 7 e 36
I o e v ST s e 30% wnd S A

-
(A) ¥ 1,900 ’,ﬂ'h/ez.nhn

(C) ¥3,500 (D) 72000

R3d T r_:m#?aiwaﬁqm?ﬁmwmmmm

(E)  Question not attempted / ST T4

80 Meja dam has been built 8n which of the following rivers of Rajasthan 7
(A) Kothari (B) Javaj
(C) Mahi (D)  Parvay

(E) Question not ;ulcmpwd
ﬁmﬁqﬁgaﬁﬁ!mmaﬁr%meﬁmﬂmﬂmwa?
w7 Frardt (B) o
(C) o (D)  orEH
: (E) arafta ug
.Il)l # 17 [I‘.'l'.“.
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V /4

81

81

83

T\ #

Jt L ltl..bi..uﬂ_
Selc ! hl‘ nos \ ‘IlLL'i :11..[1.[.““..“[ ;'I'Di 11} I| el S
. L]lL\, 1 1 'L‘ nes

ceeps MOre salinity:
o i fertiity put keeps more 58 ‘
NI Jacks 10 fertility - q : L ot o ot
o per, d tck and karonda are cnnmdcrcd excellent for the nnpmvunuﬂ of des
(B) er, drums g .
(&) Deserl soil 18 found 1N castern Ra jasthan.

(D) Deserl soil 1S di-_iplucud by wind.

(E) Question not atempted s
2 A T T ohy 'l
e 5 LR ARl b
(A) ™ ﬁﬁ‘fiﬁﬁiﬁﬂﬁﬁ el
®) ° A A a7 T & G e AT ST €

(F) S %A
In Raj,maih:m_Ta\c‘n‘nuppcr wildlife sanctuary is situated at = -
(A) Churu

(B) Sirohi
(C) Jaipur

(D) Bundi
(B) Question not attempted
T T A ST poieth fiora &7
oy (B)
(€) X (D) HA
() IR %R : -

Choose the most appropriate one

A portable case for hol -word substitution of the given sentence:
/ e case for holding papers, drawi
g g papers, drawings, doc s
(A) le'm\m it cuments elc.
(C) Dbricfcase J(B"/ wardrobe
(E) Question not atiempted (D) rack

Choose the most i
it st appropriate word which is s
D s opposite in meaning to the

given word:
;\]/hctmctiun
y Appland 8
) Comfort
(E) 250 '
“%C:u;hl:on not attempted (D) LesoRtOL
[} : N
the following is the most app
i ropriate

(A) Minimu

m 1 Characte : for the
oy ey cler, Maximum 31 Ch the name of Excel sheet?
(€) Minim .;_ aracter, Maximum |¢ ki)

um 2 Charac ) C
(D)  Minim haracter, Maximym 2 haracier
Bigi. Ium 1 Character, Max; 27 Character
UEsLon not attempt < Ximum 21 C
& .

el i a2 haract
ny 5 er
) = A W AR i
g dﬂla‘ﬂ,‘ﬂf\w“mﬁmﬁfﬁq
w s . .
o _ﬁ"m 2%, gy EL LG
) Aty M 27 A
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1 a special effect is called that occur when you move from One

entation? (Choogeghe most appropriate option from below)
Effect - (B) Custom Animation (:;
Present Animbiion (D) Slide Transition (=)
| Question not ﬁmpted o
sy 35 A ﬁ@ﬂm#mimﬁaﬁﬁhﬁﬁmaﬁwﬁﬁ?h
e 4 T ) 4
\) TR =4 (B) e o
oy ke AT @y wE A 2
gy SEANE
pe is the ! cut key that hides the selected columns in Excel. (% |
 widmwe mﬁﬁwﬁnmﬁwm «
Alt+H o By F2 O
€ Cul+0 (Zerd)™ (D) Shift +F10 ?
(F) Question not Kttbmpted / WA EH
s of MS Word a\ligmcms‘?

NOT true about the different type
gh will be aligned to
h will be aligned incl

slatement 18

Which of the follow
{= All the lines of the paragra

(A) Center Alignmen

By Right Alignmgpi- All the lines of the paragrap
() Justify- The n@i {eft side of the paragraph will be aligned including the last line. &
(Dy Left Alignmentsill the ines of the paragraph will be aligned on the lefl b
() Question not qpmpted bt
mﬁﬂmmmﬁﬂw%@mﬂwﬁh#aﬁﬁmzﬁ%- =
(A) mmﬁzn@uﬂmmmaﬁﬁqﬁmﬂrﬁ N
@) et e ﬁﬂmﬁﬂaﬁaﬁrqﬁmﬁﬁrﬁ &
(o wftt-sryede Mmﬁ@%qﬁmﬂﬁﬁﬁrﬁaﬁﬁaﬁdﬁmﬁgﬁqﬁm% rd
(D) Wmﬁwﬁn@!ﬂmﬂmﬁaﬁ S tifemeg BT
(€ waerEs L : ~
#  Who imposed cm@n '~ on the farmers of Bijolia in 19037 p
(A) Jogirdar Prith (B) Sadhu Sitaram Das =
(C) Maharans FuESingh (D) Rao Krishna Singh o
() Question not gitgmpted ™
Wlnt.imhfaquzaaﬁmﬁmﬁmm ot
Dy e qud 4 (B) e T A o
(©) T g fee oy T g f .
€ rpefawn N
(han? (Choose the most appropriate option from bel# )

W
Who was the first Governor of Rajas
‘t':-:] Maharaja Sawi{ Man Singh
_1 Shri Hem Bahagur Singh
(&) Q:Jcsliun not melcd
"::“"“‘Wmm o (Frt & A Iage e 4)
ch TR HATE WA o
() d‘mhwm 2
,thl' # 'L

(D) ShriKalraj Mishra

[o-

the center —
uding on the right

slide to the next during on-screen

(B) Shri Gurumukh Nihal Singh €

19170
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iy faf@ﬁﬁﬁﬁgmquﬁ%-

b. =R
a.  EEU g S
(i ST .
e. LIS -
3 forw e Pl | € WA 397 3 @ Fewcaltd
(A) mlﬂmf M aaf‘ﬂ'c
(C) Faaib,cHd el
PR a2
i B 37 A 36 AT o [T U 1eG W e
jg S (D) G
(E) 3FHia oA ol y
93  Which country will host the FIFA Women's World Cup in 20277
(A) Brazil (B) Australia
(Cy South Africa (D) India

(E) Question not attempted
o sk fa =, 2027 1 ASEE FH ST F

(A) T

(B) SEfomn
Gy =T snhE (D) W4
(B) IFERawx
94 ﬁﬂ%ﬁ?‘lﬁ?ﬁi{a‘f@am?_ 10
k;-‘g ST R qrerd) st R By~ 3ueh SATEl 0 Ed R
) B e R ;
: W1 E T B (D) HIH AT ST 2l
(E) et wa
95 o _ﬁrm%aqﬁw&mwaﬁhw_
-.-m?ﬁ@.@maq,
(A) & g v oy 3y
() “‘E“‘Wﬁr:én\‘maq;w (B) U Fedree dicit g=s1
(E)  nfaun = Dy~ R U A ey
96 ‘L‘Ulllﬂuﬂm‘n L 3 ) "
Ty’ = ) oy form <
AT s T 5 3 By
(©) W=t
i ®) i
(E) AT wy
9 P (D) oo
P R T2 2 v
R’ T 2 8- |02
¢ '-ﬂ?h'-{m
€ Ffay b we=
4 fay M Firrs d
(A) -471',*L"v_qq“'ﬂf‘ﬁﬁ_{rp{mm'_n i
(© 4}1.1..;{_7:“ L -
LbWw o
(B)  somtog gy AT 3
L CTT: - (:?#Wh.dsﬁtc
) %-F?Tﬂu.h\'&ﬁtd

2
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o T st a1 e 37 -
Ly e o T
() FIORETLAS]
(E) a-]'iﬂﬁfﬂ‘:l’ﬂ

99 Which City Was the venue for the

(A)
(C)

217 2 e ¥ i ST (AYUSH)

Mumbai, India
New Delhi, India

(E) Question not attempted

international

(B) W{iﬂ-’”
(D) ﬂﬁqﬁ'ﬂﬂﬂwm

AYUSH Conference and Exhibition 20247

(B) Dubai, UAE
(D) London, UK

w7 WETHT 2024 8% 41?7

®) FALLE
(D) e, g

(B) Kota
(D) Nagaur

(B) HIETH
(D) ATmH

Thalassemia patients are able to manufacture normal haemoglobin

Thalassemia is caused due to defect in RBC producing genes.

Thalassemia patient q Ires | SlUSIC order g
3 requires {requent lood transfusiol 1
P N in ]d to survive

Thalassemia gene is present on Y chromosome.

(A) Taé W
4L3T/ it =i, W
() Wi w4
100 Dadu Dayal wasbomat
(A) Bikaner
(C) Ahmedabad
(E) Question not attempted
(A) HFEH
Sy sewaEE §
(E) aﬁrfﬁ:a e
101 The most appropriate statement about thalassemia is:
(A)
(B)
1C)
(18]
(E)

(A)

Question not attempted

et & s wed 3vae w4 w1 = R

By S H (RBC) 3o 70t ATt i 0 312 B9 3 shror Aeveitferar ay sy &
(©) wmﬁaﬁamﬁmwmaﬁnwﬁﬁ S
\l?: ﬂmﬁqmsi‘nyﬂvrﬁammﬁuﬁﬁrm%! |

S vy

(B 5

) Y-Ch rOmosomes
(D) Autosomes
(B)

1 q
~ The genes associ;
5 Benes associated with colour blindness are located 0|
LY e chr:nluu.\;ulllcs .
(8} Mitochondrial DNA
{E | :
. .1_ Question not aie mpled
T 3 i I o e w1 @
(A) x. LS = | G
RIS Eug
E)  pqmfr u BN

2]

(D) Yﬁm T

[ PT.O.
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In the following reactions =

i ST A € -

(i) 2S0,+0> ——=2503

(i)
N
—~Ax N
iy N2+02 —=2NO R
Which reactions Oceur in presence of catalyst:

mmmﬁmmﬁ:

N, +3H, =—=2NH;

(ivv Hp+Ip —— HI

| 8
(AY () and/q41 14\-1
(€C) (1), () and/T4l (ii1)

BT (i) and/eT (ii)

(D) (1) and /4T (i)
(E) Question notatempted / H?J::ﬁﬁﬁﬂ
Alkaline KMnOy + Heal
104 CH,CH,0OH —2=—r=——1——— CH,COOH
In the above rcacliu.n.ﬂ:ﬂknhnc KMnO4actsas a
(A) oxidising agenh (B) Catalyst
(C) dehydrating agent (D) reducing agent .
(E) Question notidgttempted
7 : W
CH,CH,0H —1RKMi04 * &0, oy cOOH :
I AT SR KMnO, F &8 F4 FEr 2
(A) mma'—‘ua'\ B I
() TS (D) : Al
(E) Hiﬁ'ﬁfﬁ‘lﬂ e
105 Which of the followitig pair will give displacement reaction?
A)  AgNO, solufich : S .
‘tcls V:C?Uﬁ:::-.u:n‘;nd oo m";al (B) CuSO, solution and silver metal
2 5 copper meta = ) j .
(E) Question nmlalklumpled (D) FeSO, solution and copper metal
hﬂﬁﬁﬁﬂ#“m;gm.ﬁmm: Rifrar O
(A) .-\ght},,ﬁ'm_;__?m ATH () _ ol
(©) NaC! foerrs st amwr v, - (B)  Cuso, faemm st a1 (Rareao) 1T
(E) 31:;?‘[ L £ A BT FeSO, faemm aﬂtmm" e
106 Aquaregia is a freghly Prepared mixtyre of - 3
3 I €0 Concentrs =
— TP ely trat } » ’ )
F HNO, af i 0 ¢d HNO; and concentrated HCI in the ratio o
\—,1-1—,;[? U1WWHCIWm. b
Bl > et ol
! el T“FF " ﬁﬂ-‘{m
(A) 2:3 il WW(W)WW
‘.trr.‘l 3:2 h A :——.:
=) Question not! ] j : Y
107 A ‘n:'ln|'.q,:p_b?_“t:1]lcml"'led.f o D) 1.3 el
' roce e
A) - Software py Ry cedures for Aecomplishing task ;
[('. ! Algorithy, m‘" 1S known as N
(E) Question s ) Hardw. .
T Y vy gD Areware Program o
. mmr{mml“; oeled (D i o
(A) Hwaiqmam i wﬂ%‘?ﬂm 5 Eram -
Tty ) W - .
(E) 3 “q o Rﬁ-{;m EFE‘%"E
T19 Ty i (B) mﬁmg}m "“-—-!:_{_____l
# (D) iy %))
' ~
22

112
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] of

p.1.0-

108 Which of the following p

air is NOT correct about the keyboard keys?
(Choose the maost appropriate option from below)
(A) Command Key - Caps Lock

(B)  Punctuation Key - (;) Semicolon
(C) Navigation Key - Page Up (D) Control Key - Tab
(E)  Question not attempted
At e gt
(A) FHFE & - Caps Lock (B) mﬁ_ﬂ:{ﬁ - (1) Semicolon
(C) AFAH (e i - Page Up Dy HI i - Tab
(E) 3w wx

109 Which of the following is Open command in MS office?
ﬁﬁ%{%ﬂﬁﬁéﬁ@maﬁ&qﬁaﬁwm%}
,m/ Cul + 0

(B} Alt+0
(€) Shift+0

(D) Tab+0
(E)  Question not attempted / STqaRT g

110 ﬁqfr-rr“@aﬁf%ra’mmaﬁa?rnﬁwq?ﬁ%-
(A) & - o (B) TE-7g
LT 23T - Wy (D)  cFer - qayar
(E)  wfte wy

i ﬁtiﬁfﬁaaﬁﬂnﬂamamq:aﬁ%-
A) F= ﬁBT'"tﬁ
©) e (D)
(E) 3]37—[&-.—11;[34

L[] - 3
* When ajr i between the plates of

& capacitor is replaced by mica of dielectric constant 4. its capacity -
(A) reduces i 1w (B)  becomes 4 times
(C) becomes 2 times (D) remains et
)  Question not attempted
B L ABT 4 TE B S
(C) 2‘1=1TF'T3|'FTFﬁ (D) Waﬂﬁmﬂ
(E) ST Wy
Who is known as the father of the Indian space Programme?
.:: [;r_ Horn: Jehangir Bhabha (B)  Dr. Satish Dhawan
r. Vikram Sarabha; (D) Dr AP.J Abdul Kalam

- Question not attempred
B ﬁnwm (B) =, wnr HerT
hi i (D) mnlﬁﬁﬂ‘g’amﬁ
\

#

23
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Suratgarh and Ganganagar? 3
-t 1

areas of Churt, Jhunjhunu, Hanu mangarh,

Nhich dialect is spaken in the

(Choose the most appropriate option from below:) :
(A) Mew ari ‘ (B) Shekhawati
/ ewWd \ |
(C) Marwari (D) Malvi il
(E) Question not ai}l-: mpted :
2 ot eh, T g, ETT, GG ST Ay 3 sttt St 87 (Frer H & maa 39gE (9 1)
(A) HarEl By S
€y W N (D) ETEET
(E) SAaRa w4 ,

ah Jilai Bai? :

5 What s the reasor for the popularity of All
(B) Kurja Singing

{A) Mand Singing

(C) Playing instrument (D) Dance

(E) Question not attempted
: : 119
e T aTé S S eaT 1 R 4 87
XY AE TR (B) i
C) dmad '
(C) EELEIC (D) =M ([7H)
(E) oA A
116 Who founded Kamac:lla Panth? I
(A) Mallinathyi v |
i (B) Harbuji
(C) Tejan 4
| . . (D) Ramdevji
(E) Question not dttempted : |
FTETEan o9 i ) e &) 0 :
(A) wieerm Sy = = b
©€) TR o (B Ess o : I
(E) e sz ™) e o I t
1
117 Whichc o1 ‘ {
ik ne of the following Indian Paml\flupian : ! {
00se the most appropri ' as won two gold medals i
pPropriate opti als in the P ics 20247 |
(A) Nishad Kuma'; LA hEl"’\"-'l N amlympl% et |
1Cy . - o
: Devendra Jhanjharia (B)  Yogesh Katuris .-;
£} Question ngla .
1 att D) ish Narwal~
: ﬁh% attempied Manish N.m\.al_‘ Y 1, {
.H"ﬂfﬂef’.'ﬁ{ﬁlm:[ﬁ% 4 |
= e i 2024 2 =t ) |
hies 9EF ST 29 Frer i & ward fraed )
% Wit (B) =iy aefiay o s g :
(E) ﬂ'-{‘-'-"rﬁ' b . !
9| H = iy f
=
=
24 5
[PTO: (

Tlgl
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{18 Match List-I with List-II
List-1 (Country)

a Mauritius L
b. Seychelles il
c. Maldives iii.
d. Indonesia iv.
11 71 et 111 3 | it

it-1 (@) '
a e i
b HireH i
c. Hoed .
d  F=rfmE

Choose the most appropriate option from below:
e 5§ 7aR 307w faaed &1 =999 Fif

(A)  a-ii, b-iv, c-i, d-iii

€)  a-iv, biiii, c-ii, d-ic

(E)  Question not attempted / 3TwHA 4

List-I1 (Capital City)
Victoria

Jakarta

Port Louis

Male

FAT-11 (LT 9T29)

~
EEani =
9rE o))
T s

’j_B-&" a-iii, b-i, c-iv, d-ii M

(D) a-1, b-ii, c-iii, d-iv

| P.T.O.

Rajasthan State Allied and Health Care Council is constituted under

(A) National Allied and.Health Care Profession Commission Act - 2022
(B) National Allied agdi{Health Care Profession Commission Act - 202]
(C) National Allied andyHealth Care Profession Commission Act - 2023
(D) National Allied andiHealth Care Profession Commission Act - 2020
(E) " Question not attempted

TS 22 S70TSE Uz Eedsrat 1St 1 TS (971 092 % aee far my 2.
(A) ngmmﬁm@z-lml

BT e ST Uz Peuat WY HIIE T - 202
(C) v srersz vz FebraT S FHIEE TS - 2023
D) e stere vz et SrRTH FHIYA TR - 2020

i (E) eI W I A

The Government of Indi.aii.v. planning to implement a new highwa

""'C?"nﬁlng}-‘? (Choose the most appropriate option from belaw)

'[-'\\: Ncaf Field Communication (B) :
-} Radip Frequency Identification (D)

Question not atteipted

™
Y toll collefion System based op which
) |
Global Navigatio,

) Barcode Scannin

n Satellite System
4

e Wﬁﬁ"\"-"?ﬁéﬁrgz‘ﬁ?@*
1y ('Er;w Skis 8- SR 0) " wmie e i

¢ has DRDQ condbiled a successful te
i

L flj ™~
-1 ¥
?i 18 Apri] 20247 i '8ht of

”'IL I (< "” C 15¢ ]'U’[ L
n B LIES C “l“l{;) Tuj i II
B ] di ne i ll 15s1le

(B)

(ITCM)
Que!:u_nn nop am.-:%l ed -

Andhry Pradesh
Y Rﬂjﬂ!i]h:m ‘-\’J
i V8 381 2024 a1 el diveitfivgy - o <
(B piling - () 31y gy %Wﬁmm
lg,l %uﬁ v (D) '{l]“&\:{r_—r I~
# ! [ g ]
~{ 25 (e )
™

Iy

[ P.T.O.
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. is ~ated 111 7
122 Todgarh Raoli Wildlife Sanctuary 1S located 10 ¢

(A) West Bengal (B) Chhattisgarh
f est Benge
ssam
(C) Rajasthan (D) Assan
(E) Question not attempted 5 1
Srzire Tae 4 E I 1 furd 2
(A) & = (B) ®BHETe
ey T (D) rad
(E) STwia 94
123 Who has been appointed as the New Chairperson of CBSE, in March 20247
(A) Rahul Singh (B) Vinay Kumar

(C) Subodh Kumar Singh (D) Navneel Sahgal
(E) Question not attempted

o 2024 #, Hi. 1. W $ 3 = a7oge o ua Ot feRe Fes ferar T
(o) UEd e (B) A

Mﬁ‘f"“‘?‘mm (D)

EECIn UG
(E) Simia 94

124 Who became the first Indian to win a match in a Masters 1000 Tournament on clay courts?
(A) Nitn Kirtane (B) Sumit Nagal
(C) Sagar Kashyap (D) Ramesh Krishnan
(E) Question not attempted
et (foedh i et 1000 e A=y S ATl WA WA I 82
(a) T s (B) HHq AnTd
~
AT W F (D) T FT
(E) 3FETE w4 ]
125 ‘P’isthe centre of Circ . _
: 11 he centre of Circle. A tangent is drawn which touches the circle at *‘M’. If £ BPM = 70°, then what
15 the measure (in degrees) of £ DMR 2 :
U o6 1 2 P 21 U T dis s 2 5 -
TR (3 8 A S A a1 M 9 £991 Tt 81 afs £ BPM = 70° 2, 7 £ DMR &1
g D
M "
(A) 60°
I_(-] 7150 {B) 70°
(E) Question n
5 Ol & - - a
. attempled / STafra gy ADT 55
6 1If cCosec B + co
1o =
iy M, then find the value of m2 _ |
v " TR
A= Cosec O + coth = m o m? - | mZ
e ——
j_m’" cos6 m2yy ™ T 31 1
(cy tan
(B) cosecH
(E) ‘)Ilt"ﬂlnn noL gy .
allempre L
T9] # Pled / Safiy gy (D) sin0

26
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i1 If J80 4 6+/5 =22.35, then what will be the value of 1\/: ++/1257 ‘
ufHM-bJ?-EZ.JS ﬂ,l_ﬂ}\l,_;.: V125 &1 919 |1 EMT? -
|

71788 (Bige- o

(C) 25.88

(D) 16
(E)  Question nidtattempted Hﬁ“ﬁﬂ Lk

128 What is the difference of Median and Mode for the given data?

nmmmmmmmmqwm?

90,94, 52, 68, 80, 94, 52, 65, 87, 90. 70. 52

(A} 25 (B) 27
€y 29 ,.[_B-r" 23
(E)

Question not attempted TR 951

X, P 3 3
W I —+= =1, thei}> + 13 — i
¥ X :
o 3 3
TS =t ], P9 1 15 9
¥y X
(A) 1 (B) .
(Cy 0 (D) 0
(€}  Question nat attempted / HTTRT w5
- Y The value I‘-————I —'——__l_‘l i
| what alue of |l‘1£r F\'i='4 72 log, 72 | =
[_1 | |
AR g3t T— #
: %372 " Tog 72 Tog, 72 | L5
(A) | {BJ 2
)y s (D) o

Question rig attempted / S 757

'WL SIVen figure,if PQ || RS, £ QPE=128° and Z PER=]4g0

+then 2 SRM 19 Equal 1o:
r;,rmqq_r; P[)|JR5 /QI:_—]'\Q"W Z PER

=198% 7 ZsRMm TR
i
[
| -
v | :
i 42 /l"nj/‘c}h" =
el '- L& )]
% (D) ggo v
| T’_T.O N tT J“'-\lmrl not attempred / aﬁﬁﬁﬁ

27
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_ordinate axes is:

1x-3yt6= 0 and the €O

g raline 2 v
rea of a triangle formed by ali (B) 7 square units

9,900 unﬂ? (D) 3 squarc units
10 square units
Question not attempted ; _ 3.
2y -3y +6=0 FTT S LI mﬁ%mﬁﬁﬁﬁﬂﬁﬁ &ARA &
\ -!.El"siﬁfg M 7 aﬁs i [ér
y 10 TR (D) 3R
y e T
ake the given statements 10 be r
‘hen decide which of the given conclusions

e even if they seem 10 be at variance from commonly known facts.

logically follows from the given statements.
statements:
No paper is car.
All cars are marker.
Some markers are erasers.

Conclusions:
1. Qome CATS are erasers is a possibility.
[I.  Some papers are markers.
(A) Only conclusion 11 follows, 3 -
y (B) Both conclusions I and IT fol
& Hetic - sions | an follow.
either 1 nor 11 follows. (D) Only conclusion I follows.

lﬁ; Question not attempted

Sy o T TAT | ST g - :

o e a0 i -y aT$ T &1, ek qeTd Ao faw e et | wed
Y
TS FTH FL AR £
Tl T AT B
T

L FEFRRW @) IRy .
0. % FE A A T
(A)  Fae P 0 S Em g

1:; qmmm;:ﬂuwmwmm Mﬁ@ﬁﬁlﬁu#ﬁm
st (D) mﬁﬁ‘flwﬁ FT B
AT 8|

134  In a certain code, *
save some r;uc::;_.ﬁz made good mopey* 3
Wi . 4 A Wr e
the ':‘.ud: for *some™? Wen as ‘9876 gu;lécﬂ as ‘1465
R FE ‘he made save grace’
¢ £00d mg

» “he must b

St be ¥
S good’ is Writt A
1S written en as ‘9421°, ‘muslt

asg ‘24873’ -
- Which of the following is

"musl save some money’ ey =
- . ) ﬁ'l} TR Y &y o '
%anaftﬂﬂ‘ﬂﬁimm L9876 %mm 1465 ﬁ‘ﬁmm-& -
g L) B Sl , ‘he must be good"
© 9 sdve grace’ % '2431»:;.:1 1 +9421 * for e &,
(E : :
138 W‘:mmu:n"“ln1umplm_ (B) g 2l ‘some’ & it
1 ik ;
A e by nm‘w D) 6
340,29 Tt Ty Oy,
./:T “.:39.1.;5;, Fi¥ely 8 Serics?
€y iy
(E)  Quem
MOTY e alte
T9) # Mpled | 4 ()
“1!111-" 9
Uy () _::_'

28
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“Pivot Table" is a feature of which of the following software?
(A} Microsoft Word

(C) Microsoft Powerpoint

(E) Question not attempted
Foer 2 Py et o o ferder v 2 @7
(A) TSR T8

(C) HIEEHETR s

E) 3w 94

Which of the following is an Input device?

(A) Prnter

(C) Visual Display Unit

138

139

(E) Question not attempted
e & i #ft g feaea &
(A) fre

() fasere feast gfe

(E) SFafa 9

Which of the following command

(B) Microsolt Access

(D) Microsoft Excel

(B)

TEFRTHIE T

y.;f" HTEeh IETIE UART

(B)
(D)

A0
(D)

Mouse

Speaker

HT3H

TR F fneferiad § § w1 G FH1 ST s yfterar i faaedt #fte gu e smom?

(A)  Alt+ Page Up
(C) Tab+ Page Up
(E)  Question not attempted ﬁ‘_!,’ﬁ’ﬁ bk

ABY~ Cirl + Page Up

(D)

Choose the most appropriate option o fill in the blanks:

He looked at me with

A) x.a
O —"the, x
(E)

Question not attempted

horror when 1 explained that I was

(B)
(D)

Choose the most apprapriate option 19 fill in the blank:

Ineed 1o buy eggs but [ haven't got
{A) any, some
Ty

few, a little
(E)  Question not attempted
T -1 =gt -1 & gwfea A
A1 (377 7o)

a hmma_mﬂﬂ?

b, Fa{mm‘émg‘qi‘i%

(1 mm:aahaﬂ'r?

d i o iy e 0 AT R
9 o ferenit i 1 i 3T 27 A
":':’T.’Ti-lv,b-l‘c-lll.d-ll
a-JILb-Le-1lLd-1V

it 94

(B)

Ctrl + Shift + Page Up

double agent. (x
the, the

a,n

money to pay for them.
all, little

(D) some.
. me, any

29

1
1l
1V

(B3)
(D)

ATy
'}'H—ﬂ
ATHTe
it

i - |V_I'--|I,L'-|||.d 8 |
g - I,h—ll.t;—lV.d-lII

of Excel will take you to the previous sheet of the work book?

= blank)

[ PO,
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144 Rakeshisson of Aman’s father’s sister. Sonu is son of Disha who is motheriof Gopal and Grandmother of

Aman. Aaray is father of Tanya and grandfather of Rakesh. Disha is wife of Aarav. How ;s Rakesh related to
Disha? o
b <3

(A) N (B) Nephew ot

(©) Colsin (D) Grandson o
jon not attempted ™
@mmﬁmmm\@m&mm?mmaﬁwaﬁmﬁmm I A F
mﬁm%mﬂttmﬁuﬁﬂﬁm%mmﬁmuwmh
(A) ST (TS (B) W= (Wefi) 7

lC) mﬁmﬁ BT T (1) o
145 From en options sclcct the bo =
’E P X that can be formed by tnldmg the sheem'ﬁown in fig (X).

™

ion not attempled /
N It
(A) s+

e
() v

9| #

19170042 191 70042 19
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= - - el s i > -dIrce ..P
148 Which one of the following west flowing rivers has the largest caichment-area

(A)  Penyar () Sauariah
(C) Bharathappuzha (D) Mahi

’ (E) Question not attempted

i S ; S : S &y

. =IEd | | = =i afam £ 3 327 arsh -Tal =T H=H =T STeav-&3 a7
(A) UiEm (B) H=THdl
(C) Wz APy W
(E) 9wl usg

49 Mushroom rocks. shifting dunes and playas are features of which of the following regions of India?
(A) The Coastal Plains (B) The Indian Desert
(C)  The Peninsular Plateau (D)  The Island
(E}  Question not attempted
B IS, T S P S o e & Feefaa § # oy sy =y B IR
(A) wfgf=m --ﬂ‘!’i’ﬂq]‘z_a-rq' q UHeere
(C)  umEE R (D) g
E)  safaay
By .
ary huuum_._.] Peak is situated in which of the 111|In-.\1ng Tegions “Il}hln.',irnl)‘il_\i':'
LA) Arunachal Himalavas :
i (B) g L
i . limacha| and Uttarakhand Himalayas
L) I-.mhmulhrnulu_nm (D) Darie :
1|. _ 40eeling ang Sikkim Himalayas
) Question not altempted 4
o . - S
A faren T 3 frsfera A e iy 3 fogey 30
WY s Trmremy
(B) f?l‘rr;—r:' 8
) iy ey N ITEE ferrerg
IPTON & o (% Ay :
Iy 1
L I
3

. ) e -
Kolleru lake is situated in which of the following states of India
(a]d]= d v &

(B) Andhra Pradesh
(A) Ru].‘j\lihll‘l

. D) Odisha
(Cy Tamil Nadu {

(E)  Question not attempted

Frore Ziel W & eterad o | fod e o feua 22

A) T By ST
(A) T
(<) ;iiqu:l[‘;

(D) 3nfEem
(E) 3wt 94

[ BT.O,
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